

How do stand composition and cervid densities influence the forest floor vegetation in a multi-cervid species context?

Clémentine Leemans



Master's thesis • 60 credits Swedish University of Agricultural Sciences, SLU Department of Wildlife, Fish, and Environmental Studies Examensarbete/Master's thesis, 2021:17 Umeå 2021

How do stand composition and cervid densities influence the forest floor vegetation in a multi-cervid species context?

Clémentine Leeman

Supervisor:	Fredrik Widemo, Swedish University of Agricultural Sciences, Department of Wildlife, Fish, and Environmental Studies
Assistant supervisor:	Annika Felton, Swedish University of Agricultural Sciences, Southern Swedish Forest Research Centre
Assistant supervisor:	Anna Widén, Swedish University of Agricultural Sciences, Department of Wildlife, Fish, and Environmental Studies
Examiner:	Anne-Maarit Hekkala, Swedish University of Agricultural Sciences, Department of Wildlife, Fish, and Environmental Studies

Credits:	60 credits
Level:	Second cycle, A2E
Course title:	Master's thesis in Biology, A2E - Wildlife, Fish, and Environmental Studies
Course code:	EX0970
Course coordinating dept:	Department of Wildlife, Fish, and Environmental Studies
Place of publication:	Umeå
Year of publication:	2021
Cover picture:	Clémentine Leemans
Title of series:	Examensarbete/Master's thesis
Part number:	2021:17

Keywords:

Alces alces, Cervus elaphus, Dama dama, Capreolus capreolus, cervid, Vaccinium myrtillus, Pinus sylvestris, Picea abies, browsing, forest floor cover

Swedish University of Agricultural Sciences Faculty of Forest Sciences Department of Wildlife, Fish, and Environmental Studies

Publishing and archiving

Approved students' theses at SLU are published electronically. As a student, you have the copyright to your own work and need to approve the electronic publishing. If you check the box for **YES**, the full text (pdf file) and metadata will be visible and searchable online. If you check the box for **NO**, only the metadata and the abstract will be visible and searchable online. Nevertheless, when the document is uploaded it will still be archived as a digital file.

If you are more than one author you all need to agree on a decision. Read about SLU's publishing agreement here: <u>https://www.slu.se/en/subweb/library/publish-and-analyse/register-and-publish/agreement-for-publishing/</u>.

 \boxtimes YES, I/we hereby give permission to publish the present thesis in accordance with the SLU agreement regarding the transfer of the right to publish a work.

 \Box NO, I/we do not give permission to publish the present work. The work will still be archived and its metadata and abstract will be visible and searchable.

Abstract

The cover of forest floor vascular plants has been decreasing in Sweden over recent decades. Cervid rely heavily on this vegetation for food. With this study, I showed that habitat type highly influences the quality and quantity of the forest floor vegetation. In general, Scots pine forests (Pinus sylvestris) had a higher density of ericaceous shrubs (Vaccinium spp and Calluna spp; family Ericaceae) than Norway spruce forests (Picea abies), deciduous and mixed forests. Bilberry shrubs (Vaccinium myrtillus) found in Scots pine forests were taller. In accordance with previous studies done in Scots pine forests only, I observed across several different types of forests that bilberry shrubs were shorter in areas where fallow deer (Dama dama) were present at higher densities. But yearly shoots were longer in areas where moose (Alces alces) were present at higher densities. Norway spruce plantations had low abundance of ericaceous shrubs but supported high abundance of grass and forbs. The decrease in forest floor cover that has been observed in Sweden is remediable with changes in the choices of forest type.

Keywords Alces alces, Cervus elaphus, Dama dama, Capreolus capreolus, cervid, Vaccinium myrtillus, Pinus sylvestris, Picea abies, browsing, forest floor cover

Table of contents

1.Introduction
1.1. Bite size hypothesis
1.2. Forest type9
1.3. Aim
2.Material and methods11
2.1. Site description11
2.2. Data collection
2.2.1. Forage availability data collection12
2.2.2. Bilberry data collection
2.2.3. Pellet data collection14
2.3. Statistical analysis14
3.Results
3.1. Bilberry height and shoot length17
3.1.1. Relationship between bilberry characteristics and stand composition17
3.1.2. Relationship between bilberry characteristics and cervid density
3.2. Food availability in relation to habitat type24
4.Discussion
4.1. Bilberry interactions
4.2. Availability of important food items from the forest floor layer
4.3. Caveats
4.4. Conclusion29
5.References
6.Appendix

1. Introduction

The numbers and distributions of different ungulates are increasing across Europe. This increase means that ecosystems that have multiple ungulate species, with partially overlapping diets, are becoming more and more common (Apollonio et al., 2010; Linnell et al., 2020). A better understanding of those interspecies interactions could be a key element in mitigating human-wildlife conflicts. For example to limit negative interactions with the forestry industry. Indeed, cervid browsing on Scots pine (*Pinus sylvestris*) can cause damage which prevents the plants from growing straight and being valuable for timber (Gill, 1992; Herfindal et al., 2015).

Ericaceous shrubs (*Vaccinium spp* and *Calluna spp*; family *Ericaceae*) also represent an important proportion of the cervid's diets. It is possible that competition occurring at the forest floor vegetation level is resulting in a change in the diet of moose (*Alces alces*) (Spitzer et al., 2020). Indeed, cervid herbivory can have a big impact on the biomass abundance (Tremblay et al., 2006), mean height and density of the forest floor vegetation (Speed et al., 2014). Smaller deer species that are often present at higher densities could be reducing the food availability for moose, forcing them to feed more on commercially important young trees (Spitzer et al., 2021). This means that ensuring high abundance of food at the forest floor layer could prove to be a more effective way of limiting cervid damage on Scots pine than just controlling cervid numbers.

1.1. Bite size hypothesis

Browsing by cervid can modify several aspects of the forest floor vegetation. High cervid densities can have a negative impact on the forest floor plant densities (Parlane et al., 2006; Tremblay et al., 2006) and biomass (Melis et al., 2006), especially in regenerating clear-cuts which can lead to a change in forest floor vegetation composition in the long term (Tremblay et al., 2006). Cervid can also influence the forest floor vegetation composition, for example by increasing the proportion of grasses and sedges (Gill, 1992), which moose only consume in very small quantities (Spitzer et al., 2020).

A lot of attention has been given to cervid foraging on trees but less so on ericaceous shrubs when they actually represent an important part of their diets (Spitzer et al., 2020). Herbivore feeding behaviour can be influenced by different aspects of forage availability. Those can be either plant density within the landscape, shoot density per individual plant or available bite size (i.e., length of shoots thinner than 4 mm in diameter) (Gross et al., 2017). A study done in Finland on bilberry (*Vaccinium myrtillus*) bushes showed that after different levels of branches harvesting by humans, the number of new shoots produced afterwards did not differ in number between the different treatments but the dry weight of the new shoots did decrease progressively as the harvesting increased (Tolvanen et al., 1994).

In the case of moose, it could actually be the size of available bilberry shoots that is driving them away from areas where smaller species of cervid are present at higher densities.

Indeed, in winter, moose, red deer and roe deer largely overlap in the tree species they feed on, but moose have been shown to browse on larger diameter tree twigs than red deer and roe deer (Nichols et al., 2015). Also, in a controlled experiment where varying numbers of tree shoots were placed at different distances, moose tended to select larger, less numerous bite sizes than smaller cervid species

especially when patch size and density decreased (Shipley, 2017). Moose could be dependent on bigger bite sizes to sustain a higher daily food intake, which is needed due to their larger body size (Nichols et al., 2015).

Forest types also controls the structure of bilberry shrubs (Tolvanen, 1995), by modifying the height of the shrubs, the length and weight of the shoots, the number of shoots that each shrub produce (Maubon et al., 1995; Woziwoda et al., 2019). This is due to varying levels of light availability, temperature and soil pH under stands of different composition.

The type of forest, as well as the cervid densities, influence the height of bilberry bushes, their densities and the length of the yearly shoots. This could in turn influence moose behaviour and create competition between the different cervid species.

1.2. Forest type

The composition of the forest floor vegetation and thus cervid forage availability varies with habitat (Bjørneraas et al., 2011; Härkönen and Heikkilä, 1999). Studies have shown that dwarf shrubs, eudicotyledons in general and grasses are more abundant under Scots pine forest than Norway spruce forest (*Picea abies*), resulting in more food resources for herbivores (Bäcklund et al., 2015; Miina et al., 2009; Petersson et al., 2019). Vascular plant biodiversity however is higher under Norway spruce (Petersson et al., 2019). In North America, a decline in the quantities of shrubs over the last 30 years as well as varying current availability has been shown to be correlated with decreasing numbers in the moose population (Schrempp et al., 2019).

Scots pine forests in Sweden are increasingly being replaced with Norway spruce. This change can have an impact on the forest floor layer composition (A. Felton et al., 2020), which in turn can impact cervids that feed on those plants. The reduced plant cover in Norway spruce forest understory can be explained by the fact that, at similar age and stem densities, light availability is much lower under Norway spruce forest than under Scots pine. Comparing the effect of tree species on the forest floor vegetation has mainly been done between Norway spruce and Scots pine forests as they represent over 80% of Sweden's commercial forests. However, deciduous trees such as oak (*Quercus robur*), beech (*Fagus sylvatica*) and birch (*Betula spp.*) are often mixed within coniferous forests in the south of Sweden, and their effect on the forest floor vegetation is less well studied (Hedwall et al., 2016).

Numerous other factors of course also influence the abundance and composition of the forest floor layer, such as forest age, tree density (Hedwall et al., 2013), the forest regeneration method (e.i., clearcut or not), soil type (Miina et al., 2009), canopy coverage (Bäcklund et al., 2015; Parlane et al., 2006) and previous land use (Petersson et al., 2019).

The effect on the forest floor vegetation of deciduous trees mixed within coniferous forests however is uncertain. Some studies show that it could have a negative impact on abundance (Miina et al., 2009), while others show that mixed forests could have a positive effect on biodiversity (Cavard et al., 2011). Some authors suggest that this increase in biodiversity and coverage could be due more to the decrease in canopy coverage which leads to an increase in the amount of light that reaches the ground rather than purely to the added broadleaf tree species (Cavard et al., 2011; Hedwall et al., 2019).

1.3. Aim

The aim of this study was to assess how the height of bilberry bushes as well as their yearly shoot lengths vary depending on different habitats and to varying densities of four cervid species: moose, red deer (*Cervus elaphus*), fallow deer (*Dama dama*) and roe deer (*Capreolus capreolus*).

The difference in abundance of key food items for those cervid between several forest habitat types was also investigated.

2. Material and methods

2.1. Site description.

The study took place in Södermanland county, north of Nyköping, in Sweden. It is at an elevation of 50 metres above sea level, receives on average 615 mm of precipitation per year and has a mean annual temperature of 7 ° C (SMHI, 2021).

The study area is in the hemiboreal vegetation zone (Ahti et al., 1968). The landscape is dominated by a mix of farmland and productive forests, with farmland covering about 40% of the surface. The dominating tree species are planted Norway spruce (hereafter spruce) and Scots pine (hereafter pine) but deciduous trees such as oak, beech, alder (*Alnus glutinosa*), aspen (*Populus tremula*), rowan (*Sorbus spp.*) and birch also occur (Pfeffer, 2021). The forest floor vegetation is composed mainly of forbs, grasses and ericaceous shrubs such as bilberry, cowberry (*Vaccinium vitis-idaea*) and heather (*Calluna vulgaris*).

Four cervid species are present in the area: moose, red deer, fallow deer and roe deer. Moose, red deer and roe deer are native to Sweden while fallow deer were introduced through large estates. They have a low dispersion capacity which leads to them having a fragmented but locally very dense population (Apollonio et al., 2010). Harvest levels (number of animals hunted yearly in the area per 1000 hectares) differ greatly among the four cervid species in the study area (table 1).

Table 1: Harvest per 1000 hectares providing a density index for the area. Älgförvaltningsområde (ÄFO) 1 in Södermanland, Sweden

fallow deer	70
moose	1.1
red deer	2.25
roe deer	4.57

Data extracted from: https://rapport.viltdata.se/statistik/

2.2. Data collection

Data was collected along transects. Transect started near the centre of 1 by 1 kilometre squares on which pellet recordings are taken yearly by the Beyond Moose research project. The sites (start of the transects) were placed approximately 3 kilometres apart, placed in a grid (figure 1). The transects were 500 metres long and were directed in the four cardinal directions from the centre of the squares. Three types of measurements were taken along them: forage availability, bilberry height and pellet counts.

Three rounds of measurements were performed in 2020. The first round of measurements was carried out in April, and all three types of measurements were taken. The second round was carried out in May and June, measuring bilberry height and pellet counts. The third round was carried out in July and August, measuring forage availability and bilberry height. As we only measured about half of the sites in April, the data collected during that month was not used here.



Figure 1: Map of the study area, showing the grid disposition of the square transects. The green and yellow pins show the start of the measurements transects (sites). The grey bullets placed in squares show the 16 point where pellet data was collected by the Beyond Moose research project.

2.2.1. Forage availability data collection

Food availability was measured using a modification of the step-point method (Coulloudon et al., 1999, Evans and Love, 1957) that allows for the quantification of food items. It shows great repeatability between samplers and is able to cover large areas (Evans and Love, 1957). Every 5 metres (paced off by steps) along the transects, a pole with a diameter of 2.5 centimetres was placed vertically on the ground and every living plant type that was touching it was recorded (table 2). Those food categories were chosen because they have been shown to be major food items used by the four cervid species. Habitat type, based on the environment within a 10 metre radius, was also recorded (table 3).

Abbreviation	Food type ¹	Details
Srb	Ericaceous shrubs	Bilberry (<i>Vaccinium myrtillus</i>), Heather (<i>Calluna vulgaris</i>) and Cowberry (<i>Vaccinium vitis-idaea</i>)

Table 2: Summary of the food types that were used in the analysis

1 Plants in other categories were also recorded but only the ones that are of main interest as food resources for the cervids according to (Spitzer et al., 2021) were kept

Fo	Forbs	Herbaceous plants that are not graminoids or cryptogams
Gf	Graminoid	Graminoids in forest
RASE	Rowan, Aspen, Willow and Oak	Sorbus aucuparia, Populus tremula, Salix spp., Quercus robur and Quercus petreae

Table 3: Summary of the different habitat types recorded, based on the environment within a 10 meter radius

Abbreviation	Habitat type	Details
Al	Agricultural land	Crops and grass fields
Сср	Planted clear-cut	With seedlings up to three metres
Сси	Unplanted clear-cut	Freshly cut or scarified land
Cfm	Mixed coniferous forest	Less than 70 % of pine and spruce respectively
Cfp	Coniferous forest of pine	Over 70 % of pine
Cfs	Coniferous forest of spruce	Over 70 % of spruce
Df	Deciduous forest	Over 70 % of deciduous trees
М	Mire	Includes different types of wetlands
Mf	Mixed forest	Less than 70 % coniferous and deciduous trees, respectively
U	Urban	Roads and habitations
W	Water	Lakes and rivers
E	Edges	Habitat that falls right between two of the previous habitats

2.2.2. Bilberry data collection

Bilberry shrub height and shoot length were measured every 20 metres along the transects. The height of the closest bilberry bush to the pole and within a 3.5 metre diameter from it was measured as well as the length of the longest shoot of the year present on the bush. If no bilberry bush was present in this diameter, the first bilberry bush within the next 20 metres was measured.

2.2.3. Pellet data collection

Two types of pellet data were used for my analyses. Firstly, data already collected by the research project Beyond Moose in March and April of 2020. This data was collected at 16 points along the 1 by 1 kilometre square transects. Secondly, data that I collected along the same transects as our other measurements, every 100 metres. In both cases, the dung piles were counted following the FOMA protocol (Edenius, 2012): roe deer and fallow deer dung piles were counted in a 1.78 m radius (10 m²) while moose and red deer were counted in a 5.64 m radius (100 m²). Piles were counted if they had more than 20 pellets for moose and more than 10 pellets for the other cervid. Fallow deer dung piles were differentiated from roe deer's by counting the number of individual pellets, over 45 being recorded as fallow and under 45 as roe.

2.3. Statistical analysis

The data was analysed in R version 4.0.5 (R Core Team 2021).

For the pellet count data collected by the Beyond Moose research project, sites where a minimum of 10 points out of the 16 had been sampled were selected. Indices for each of the four cervid species were calculated for the whole square tract by dividing the total number of piles counted by the area sampled. The indices of the pellet data that I collected, were calculated in a similar manner, albeit at the transect level.

For the bilberry shrub height analyses, the habitats that contained no or very few bilberry shrubs, such as urban areas and water bodies, were first removed. Seven different habitats were kept: planted and unplanted clear-cuts, mixed coniferous forests, pine forests, spruce forests, deciduous forests and mixed forests. Linear models with mixed effect were run with either the bilberry bush height or the length of the yearly shoot as the dependent variable, the habitat and the different cervid densities as the independent variables and the transects nested within the sites as random factors. This was performed with the lmer function in the lme4 package (version 1.1-27.1 (Bates et al., 2015)).

I initially tried to include measurement points where no bilberry shrubs were found within the habitats of interest, marked as zero in the analysis. This would have allowed to include a measure of density at the same time. However, this meant the model had a zero inflated distribution which proved to be complicated to analyse. A two part model could potentially be used to analyse the data in this way further, this consists in first a binary model followed by a model with a continuous distribution conditioned upon the result of the first model (Min and Agresti, 2002). However, this was deemed too complicated here. Therefore, for the rest of the analysis, the data points where no bilberry bushes were found were removed, to avoid having a zero inflated distribution.

A Tukey post-hoc test was carried with the glht function in the multcomp R package (version 1.4-17 (Hothorn et al., 2008)) to look further at the differences between the habitats.

As the intake of bilberry by the different cervid species varies during the year (Spitzer, 2019), the data collected in May-June was tested separately from the data collected in July-August. The same tests were completed in parallel on the pellet data that I collected and on the Beyond Moose project dataset (table 4).

Table 4: Summary of the linear mixed effect models performed. Eight different linear mixed effect models where used with varying collection period, source for the pellet data and dependent variable.

		Dependent variable	Explanatory variables	Random variable
Mav-June	Pellet data collected by me	Bilberry height Yearly shoot length	_	
data	Beyond	Bilberry height		
	Moose project pellet data	Yearly shoot length	Habitat, moose pellet index, red deer pellet	Transects nested
	Pellet data	Bilberry height	index, fallow deer pellet	within sites
July-August	collected by me	Yearly shoot length	index, for acci penet index	
data	Beyond	Bilberry height		
	Moose project pellet data	Yearly shoot length		

To evaluate the differences in abundance of the food types of interest between the different habitats a generalized linear mixed effect model was employed (glmer function in the lme4 package, version 1.1-27.1 (Bates et al., 2015)). With each food item of interest used in turn as the dependent variable. Habitat was set as the independent variable and the site as a random factor. The data was analysed under a binary form (Royle et al., 2003) and a Tukey post-hoc test was also used to look at the differences between the habitats (glht function in the multcomp package, version 1.4-17 (Hothorn et al., 2008)).

3. Results

The data was collected at 46 different sites. In May-June, 663 plots were surveyed for dung pellet piles, a summary of the number of pellet piles recorded can be found in table 5. 1885 bilberry bushes were also measured. In July-August, 1722 bilberry bushes were measured and 16001 plants from the four different food categories were recorded with the pole method.

Table 5: Summary of the number of plots surveyed as well as the number of pellet piles counted for each cervid species, including the pellet data that I collected as well as for the B eyond Moose project pellet data

	Plots surveyed	Fallow deer pellet piles	Moose pellet piles	Red deer pellet piles	Roe deer pellet piles
Pellet data collected by me	663	507	10	58	75
Beyond Moose project pellet data	655.75	427	111	53	82

Each forest habitat is present at different abundance within the landscape. Figure 2 shows the proportions of each of the habitats of interest within the study sites. Forests comprising of a mix of deciduous and coniferous trees were the most common. Purely deciduous forests were not very frequent while both types of clear-cuts considered together represented over ten percent of occurrences.



Figure 2: Proportions of occurrences of the different forest stands of interest. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

3.1. Bilberry height and shoot length

3.1.1. Relationship between bilberry characteristics and stand composition

A study of the generalized variance-inflation factors (appendix A5) for the linear mixed effect models showed that none were above the threshold value of two, which indicates that there was no significant multicollinearity between the different explanatory variable.

During both measurement periods, habitat type had a significant effect on the height of the bilberry bushes (table 6) and on the length of the yearly shoot (table 7).

Table 6: p-values of the linear mixed effect models made with bilberry height as the dependent variable

	Intercept	Habitat	Fallow deer index	Roe deer index	Moose index	Red deer index
May-June, Pellet data collected by me	< 2.2e-16 ***	6.64e-14 ***	0.002173 **	0.610331	0.409952	0.829242
May-June, Beyond Moose project	< 2.2e-16 ***	6.6472e-11 ***	0. 07305	0.43626	0.67990	0.02100 *
July-August, Pellet data collected by me	< 2.2e-16 ***	4.699e-12 ***	0.005162 **	0.312721	0.124685	0.333127

$Iulv \Delta ugust$						
July August,	< 2 20-16	1 2/70-08	0 ///3	0 1776	0 5687	0 10/2
Boyond Mooso	× 2,2C=10	1.24/0-00	0.7775	0.1770	0.5007	0.10-2
Deyoliu Moose	***	***				
project						

	Intercept	Habitat	Fallow deer index	Roe deer index	Moose index	Red deer index
May-June, Pellet data collected by me	< 2e-16 ***	< 2.2e-16 ***	0.2099	0.5824	0.1394	0.1427
May-June, Beyond Moose project	< 2.2e-16 ***	< 2.2e-16 ***	0.7866	0.1921	0.5806	0.1637
July-August, Pellet data collected by me	< 2.2e-16 ***	0.0002635 ***	0.0969722	0.5819716	0.6933939	0.6318997
July August, Beyond Moose project	< 2.2e-16 ***	0.001687 **	0.502346	0.644400	0.004756 **	0.631375

Table 7: p-values of the linear mixed effect models made with the length of the yearly shoot as the dependent variable

The subsequent Tukey post-hoc tests that were performed (appendix A1 and A2), showed that bilberry bushes in spruce forest have a similar height as in clear-cuts (figure 3). The tallest bilberry bushes are found in pine forest.

There was overall little difference between the bilberry heights in May-June and July-August (figure 3). The overall mean height in May-June was 13.51 centimetres and 13.36 centimetres in July-August. There were more significant differences between habitats with the bilberry height than with the shoot lengths (figure 3 and 4).



b)



Figure 3: Boxplot with Tukey test compact letter display showing the differences in height of bilberry bushes in different habitats. Habitats that have the same letter have no significant difference between them. In the boxplot, the boundary of the box indicates the 25 th percentile and 75 th percentile, the black line within the box marks the median and the whiskers below and above the box indicate the 2.5 th and 97.5 th percentiles. a) May-June measurements; b) July-August measurements. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

For the shoot lengths, however, the results of the Tukey post-hoc tests show that different patterns can be observed between the two measurements periods (appendix A3 and A4). In May-June, some differences in length can be observed between the different habitats (figure 4a), which have been much resorbed two months later (figure 4b). Shoots in clear-cuts show a big growth between May-June and July-August compared to the other habitats. In May-June (figure 4a), clear-cuts of both types present the shortest shoots; pine, mixed and mixed coniferous forest the longest, while shoots in spruce forests are of an intermediate length. In July-August (figure 4b), shoots measured in pine and mixed forests remain significantly longer than in spruce forests (p < 0.001 *** and p = 0.001 ** respectively). But shoots in spruce forest are no longer significantly longer than in clear-cuts.



b)



Figure 4: Boxplot with Tukey test compact letter display showing the differences in shoot length of bilberry bushes in different habitats. Habitats that have the same letter have no significant difference between them. In the boxplot, the boundary of the box indicates the 25 th percentile and 75 th percentile, the black line within the box marks the median and the whiskers below and above the box indicate the 2.5 th and 97.5 th percentiles. a) May-June measurements; b) July-August measurements. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

a)

3.1.1. Relationship between bilberry characteristics and cervid density

As for the relationship that the different cervid species have with the bilberry height and shoot length: the linear mixed effect models showed that with the pellet data that I collected, for both the May-June and the July-August measurements, only fallow deer densities are significantly correlated with bilberry height (β = -1.0699 , p = 0.002 ** and β = -1.0188, p = 0.005 ** respectively), (table 6). In both cases, fallow deer densities are higher where bilberry shrubs are shorter (figure 5). The range in density detected was correlated with a variation in height from about twelve centimetres to five centimetres.



Figure 5: Negative relationship observed between fallow deer densities and the height of bilberry bushes. May-June measurements. The grey area represents a 95% confidence interval.

The results of the linear mixed effect models made with the Beyond Moose project pellets had two significant relationships (table 6 and 7). A positive relationship between the red deer index and the height of bilberry bushes in May-June (β = 9.9552, p = 0.021 *), (figure 6) and also a positive relationship between the moose index and the length of the longest yearly shoot (β = 5.658, p = 0.005 **), (figure 7). The density range for the red deer was correlated with a change in height of five centimetres whereas the moose was correlated with a change in shoot length of two centimetres.

There was no relationship between roe deer distribution and bilberry height or shoot length (tables 6 and 7).



Figure 6: Positive relationship observed between red deer densities and the height of bilberry bushes. May-June measurements. The grey area represents a 95% confidence interval.



Figure 7: Positive relationship observed between moose densities and the length of bilberry shoots. July-August measurements. The grey area represents a 95% confidence interval.

As a further study, a Pearson correlation was also used to look at the relation between the height of bilberry bushes and the length of each bush's longest shoot.

Bilberry height and shoot length are very highly significantly positively correlated to each other, both in May-June (r (1615) = 0.485301, p < $2.2e-16^{***}$) and July-August (r (1626) = 0.5306633, p < $2.2e-16^{***}$) (figure 8), but bilberry height has a wider range.



Figure 8: Scatter plot showing the correlation between the height of bilberry bushes and the length of their longest shoot. July-August measurements.

3.2. Food availability in relation to habitat type

The linear mixed effect model made with the forage types as the dependent variable and the forest type as the explanatory variable showed that forest type had a significant effect on abundance for all four of the studied food groups (table 8).

Table 8: Results of the general linear mixed effect models made with the four different food items as dependent variables, habitat as the explanatory variable and transect nested within site as the random variable.

	Df	F value	P-value
Ericaceous shrubs	6	77.215	p < 2.2e-16 ***
Grasses	6	57.045	p < 2.2e-16 ***
Forbs	6	47.181	p < 2.2e-16 ***
RASE	3	7.9066	p = 1.217e-05 ***

Subsequent Tukey post-hoc tests were performed to look at the differences between the different habitats (appendix A6 to A9). Pine forests show the highest abundance of ericaceous shrubs, with the pole touching one of them around 45 percent of the time it is placed down (figure 9a). In clear-cuts, spruce and deciduous forests however, the shrubs are present less than ten percent of the time. Mixed coniferous forests and mixed forests are at an intermediate level.

Deciduous forests have the highest abundance of both grasses and forbs (figure 9b and 9c). Spruce forests however are present in the lowest abundance statistical group for grass, forbs and ericaceous shrubs. The three types of coniferous forests show globally a lower abundance of grass and forbs than the other habitats.

Abundance of RASE (rowan, aspen, salix and oak) was much higher in planted clear-cuts than in spruce, deciduous and mixed forests (figure 9d).



Figure 9: Relative abundance of the food items in the different habitats. The ordinate axis represents the proportion of occurrences of the food item of interest for each habitat. For example, if a certain habitat has an abundance of 0.1, it means that in that habitat, the pole – when placed down - was touching the food item of interest in ten percent of the cases. a) Ericaceous shrubs; b) grasses; c) forbs; d) RASE. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

4. Discussion

4.1. Bilberry interactions

Overall, habitat significantly influenced bilberry shrubs density (table 8), height (table 6) and shoot length (table 7). Those are important aspects by which herbivores perceive the forage quantity and quality in their environment (Edenius et al., 2002; Beest et al., 2010). Our study sites was located in the hemiboreal vegetation zone. Clear-cuts and spruce forest there generally had the smallest bilberry bushes and shortest shoots, pine forest the tallest bushes and longer shoots with mixed forests having intermediate height and length.

It has been shown that moose, at least for trees, prefer bigger twigs (Jónsdóttir et al., 1991; Nordengren and Ball, 2005; Shipley and Spalinger, 1995). My results seem to suggest the same thing for bilberry shoots, with moose being present at higher densities where shoots are longer (figure 7). Whereas their distribution was not correlated with bilberry height (table 6), despite yearly shoot length and bilberry height being correlated to each other (figure 8).

My results showed that shoot length was mostly dependent on the habitat type (table 7). Shoot length could also have been reduced where densities of cervid were high as shown by previous studies (Hegland et al., 2005). But my results did not show such significant results. A larger data set is necessary to clarify whether the negative non-significant trend I observed between fallow deer densities and shoot length (p = 0,097) is of ecological relevance or not. But one could also argue that even if the cervid do reduce shoot length, if they are distributed according to an ideal free distribution with respect to shoot length, the effect of their browsing would then not be detectable

Previous studies show that in areas where smaller cervid species are present in high densities, moose consume less Vaccinium and more pine, which offer a bigger bite size (Spitzer et al., 2021). Thus, a reduction in the shoot length, due either to a modification of the habitat or to the browsing pressure of other cervid, might not only lead to a reduced density of moose but rather to a modification in their diet. This means that in this case, the effect of the reduction of shoot length on moose density might have been underestimated. It could be interesting to look at interactions between pine damage and bilberry bushes characteristics.

My results also showed that high densities of fallow deer were correlated with smaller bilberry bushes. Those results point in the same direction as a previous study done with red deer (Melis et al., 2006). It seems that fallow deer, which can have a locally very dense population, are heavily browsing bilberry bush and maintaining them at a lower height than they otherwise would. My red deer results however went the opposite way than this study, with more red deer being present where bushes were taller. However, the red deer densities present on the island in that study were much higher than at our study sites. Or this could be the result of other factors influencing red deer behaviour and distribution. But it could also highlight the importance of studying interspecies interactions in ecosystems with multiple species competing for the same resources (Weisberg and Bugmann, 2003).

Fallow deer live in groups and have locally very dense populations with very low dispersion capacity. Moose, however, are mostly solitary and travel longer distances (Olsson et al., 2011; Torres et al., 2011). This possibly explains the differences in results between the pellet data that were collected in

this study and the Beyond Moose project pellets. Indeed, observations at the right scale are important to detect biological processes (Herfindal et al., 2015; Pfeffer, 2021; Weisberg and Bugmann, 2003). With our pellet data, the density indices were calculated at the transect level, close to where bilberries were measured whereas the density indices in the Beyond Moose project were calculated for the whole square surrounding the four transects at each site. The density indices calculated at the transect level might have been better than the bigger Beyond Moose project squares to detect the heterogeneous use of the landscape and locally very dense browsing by fallow deer. Moose however are much more mobile during their foraging bouts so a bigger scale was maybe more appropriate.

My study does not allow us to distinguish cause from effect. Is fallow deer browsing contributing to a reduced height in bilberry bushes or is their distribution related to other factors in the environment that are correlated with bilberry height? The same could be asked for the relation between shoot length and moose densities. Is it a consequence of this shoot length or of another factor in the landscape such as food availability in the surrounding fields and clear-cuts, varying hunting pressure, or the presence of urban areas (Áhlik et al., 2009; Dressel et al., 2018; van Beest et al., 2010)? But other studies have previously shown that cervid can influence plant structure and height (Côté et al., 2017; Speed et al., 2014) such as a study with fewer bias factors, done in only pine stands of similar age that also shows the negative effect of fallow deer on bilberry height (Spitzer et al., 2021). Furthermore, a study done on moose kept in enclosures has determined that, with tree shoots placed along different feeding stations, they preferred longer shoots (Shipley and Spalinger, 1995).

4.2. Availability of important food items from the forest floor layer

Despite spruce and pine forests representing, countrywide, over 80 percent of commercial forest cover, my results showed that in our study area pure pine or spruce stands together represented only 34 percent of coverage. When mixed coniferous forests and coniferous forests with deciduous trees included are included, we reach 84 percent - much closer to the national average (figure 2).

My results showed no increased abundance of grass and forbs in stands with a mix of pine and spruce compared to pure stand. The introduction of deciduous trees, on the other hand, led to a significant increase in grass and forbs. As for ericaceous shrubs, mixed stands showed intermediate abundance compared to pure stands.

Fallow and red deer are mixed feeders, consuming some woody browse, especially in the winter, as well as a range of grasses and forbs. Roe deer and moose, in contrast, are more browsers. Previous studies show that coniferous forests are preferred habitats for moose compared to deciduous forests (Bjørneraas et al., 2011; Olsson et al., 2011) and that they generally use spruce forests below availability and pine forests above availability (Härkönen and Heikkilä, 1999). Which makes sense as according to the optimal foraging theorem, herbivores should spend more time in areas of high forage quality to maximise food intake (Milligan and Koricheva, 2013).

Mixed coniferous forests had reduced bilberry cover compared to purely pine stands, but did not have an increase in forbs and grass. Whereas mixed deciduous and coniferous forests also had reduced bilberry cover and height but they did gain in forbs and grass (figure 9). Mixed forests could thus be beneficial for moose as a recent study in nutritional ecology shows that they benefit from having a wide range of food resources to have a balanced intake of macronutrients (A. M. Felton et al., 2021). Forest floor vegetation cover has been decreasing in the past decades in Sweden (Hedwall et al., 2013). My results support other research that shows that the replacement of pine forest by spruce has a negative impact on the forest floor vegetation (A. Felton et al., 2020). In addition to that, food availability in spruce stands could currently be higher due to residual biodiversity (Petersson et al., 2019). Indeed, areas where spruce is replacing pine or grass fields in first generation could have a higher abundance of plants than if spruce forest succeeded to spruce. In this configuration food availability in spruce forests could become even lower than what it currently is.

The replacement of pine forests by spruce is mostly done to benefit from the rapid growth of spruce and to prevent damage to young trees as young spruce trees are less susceptible to damage by herbivores than pine (Beest et al., 2010). Nonetheless, other factors should also be taken into consideration while making those decisions: pine forests are better appreciated for their recreational values, they are more resilient in the face of climate change by being more resistant to storms and drought, and pines are not affected by diseases that currently plague spruce (A. Felton et al., 2020). Moreover, the beneficial value of pine forests and mixed forests over spruce due to the increase in shrubs quantity and quality for cervid could also be included in the reflection, especially since the gradual rarefaction of pine stands and the decreased availability of bilberry shrubs in spruce might be adding browsing pressure on the remaining pine (Bergqvist et al., 2014).

4.3. Caveats

Fewer measurements were taken in unplanted clear-cuts and in deciduous forests than in the other habitats, as shown in figure 2. To better understand the differences highlighted by the different tests that were performed, it should be remembered that the sensitivity of a test depends on the standard deviations of the sampled means and thus on the standard deviation of the population and on the sample size :

$$\sigma_m = \sigma / \sqrt{(n)}$$

With σ_m the standard deviation of the sample mean, σ the standard deviation of the population and n the sample size. The sample sizes in unplanted clear-cuts and in deciduous forests were smaller than in the other habitats. The standard deviation of their sampled means was indeed much bigger than the other groups which explains why they generally had fewer significant differences with other habitats.

A study comparing pellet classification by humans to DNA identifications has shown that human identification can be inaccurate, with misidentification mostly occurring between roe deer, red deer and fallow deer. Experienced observers were shown to make fewer mistakes than novices, which I was (Spitzer et al., 2019). Camera traps could be a good alternative for more accurate species identification (Pfeffer et al., 2017).

Pellet counting usually occurs early in spring, when the snow has melted but before plant coverage is too high. Our pellet data was potentially collected too late in the year, leading to pellets being likely missed due to the vegetation. For example, our pellet data contained very few occurrences of moose pellets compared to the Beyond Moose project dataset, with only 10 pellet piles found in over 600 plots sampled.

Some habitat categories covered a relatively wide array of habitats. Planted clear-cut for example could range from an open recently scarified terrain with 30 centimetres high saplings to densely packed three meter tall trees. Mixed forests were also of several different types: they could consist of spruce plantations with alder mixed within them, or oaks and pines together, or either spruce or pine plantation where birch has naturally regenerated after the clear-cutting. Differences in forest floor composition and abundance could have been overlooked due to these different combinations being grouped together.

Many other factors could have been taken into account that might have affected bilberry height and forest floor composition that I didn't measure: age of tree stand, regeneration method, soil type,...

The amount of young trees counted with the pole method was relatively low compared to food items from lower strata. It is perhaps not the best method for trees. For the other food items this method did allow us to sample large areas and it removes much of the bias brought by human perception that other methods have

4.4. Conclusion

My results showed that forest type had a major impact on the composition, coverage and quality of the forest floor vegetation. Scots pine forest had a higher abundance of bilberry, which were taller and with longer shoots than Norway spruce forests. Forests with coniferous and deciduous species mixed together brought good abundance of forbs, grasses and bilberry, which could be good to provide a varied diet for cervid species.

High fallow deer numbers were associated with smaller bilberry bushes, while higher moose densities were correlated with longer bilberry shoots. It would be interesting to study further the effect that high densities of fallow deer can have on the forest floor vegetation as their distribution continues to expand. And also research, perhaps in a more controlled environment, how moose feeding habits are influenced by available shoot length.

The decrease of the forest floor vegetation cover that has been happening over the past decades in Sweden can be remedied through different silvicultural practices. Forestry management decisions should be taken while considering all the ecosystem services that forests can bring and not solely for wood production.

5. References

- Áhlik, A. N., Ándor, S., Ari, T. T., & Irály, K. (2009). Space Use and Activity Patterns of Red Deer in a Highly Forested and in a Patchy Forest-Agricultural Habitat. *Acta Silvatica et Lignaria Hungarica*, *5*, 109–118.
- Ahti, T., Hämet-Ahti, L., & Jalas, J. (1968). Vegetation zones and their sections in northwestern Europe. *Annales Botanici Fennici*, *5*(3), 169–211.
- Apollonio, M., Anderse, R., & Putman, R. (2010). Ungulates and their management in Sweden. In *European ungulates and their management in the 21st century* (pp. 37–70). Cambridge University Press.
- Bäcklund, S., Jönsson, M. T., Strengbom, J., & Thor, G. (2015). Composition of functional groups of ground vegetation differ between planted stands of non-native Pinus contorta and native Pinus sylvestris and Picea abies in northern Sweden. *Silva Fennica*, 49(2), 1–10.
- Bates, D., Mächler, M., Bolker, B. M., & Walker, S. C. (2015). Fitting linear mixed-effects models using lme4. *Journal of Statistical Software*, *67*(1). https://doi.org/10.18637/jss.v067.i01
- Bergqvist, G., Bergström, R., & Wallgren, M. (2014). Recent browsing damage by moose on Scots pine, birch and aspen in young commercial forests effects of forage availability, moose population density and site productivity. *Silva Fennica*, *48*(1), 1–13.
- Bjørneraas, A., Johan, E., Van Moorter, B., Moe, C., Bjørneraas, K., Solberg, E. J., ... Rolandsen, C.
 M. (2011). Moose Alces alces habitat use at multiple temporal scales in a human-altered landscape Original article. *Wildlife Biology*, *17*(1), 44–54. https://doi.org/10.2981/10-073
- Cavard, X., Bergeron, Y., Chen, H. Y. H., & Paré, D. (2011). Effect of forest canopy composition on soil nutrients and dynamics of the understorey: Mixed canopies serve neither vascular nor bryophyte strata. *Journal of Vegetation Science*, 22(6), 1105–1119. https://doi.org/10.1111/j.1654-1103.2011.01311.x
- Cavard, X., Macdonald, S. E., Bergeron, Y., & Chen, H. Y. H. (2011). Importance of mixedwoods for biodiversity conservation: Evidence for understory plants, songbirds, soil fauna, and ectomycorrhizae in northern forests. *Environmental Reviews*, 19(1), 142–161. https://doi.org/10.1139/A11-004
- Côté, S. D., Rooney, T. P., Tremblay, J., Dussault, C., & Waller, D. M. (2017). Ecological Impacts of Deer Overabundance. *Annual Review of Ecology, Evolution, and Systematics*, 35(2004), 113– 147. https://doi.org/10.2307/annurev.ecolsys.35.021103.30000006
- Dressel, S., Ericsson, G., & Sandström, C. (2018). Mapping social-ecological systems to understand the challenges underlying wildlife management. *Environmental Science and Policy*, *84*, 105– 112. https://doi.org/10.1016/j.envsci.2018.03.007
- Edenius, L. (2012). Referensområden för klövviltförvaltning i södra Sverige.

- Edenius, L., Bergman, M., Ericsson, G., & Danell, K. (2002). The Role of Moose as a Disturbance Factor in Managed Boreal Forests. *Silva Fennica*, *36*(1), 57–67.
- Evans, R. A., & Love, R. M. (1957). The Step-Point Method of Sampling: A Practical Tool in Range Research. *Journal of Range Management*, *10*(5), 208. https://doi.org/10.2307/3894015
- Felton, A. M., Wam, H. K., Felton, A., Simpson, S. J., Stolter, C., Hedwall, P. O., … Raubenheimer, D. (2021). Macronutrient balancing in free-ranging populations of moose. *Ecology and Evolution*, (March), 1–18. https://doi.org/10.1002/ece3.7909
- Felton, A., Petersson, L., Nilsson, O., Witzell, J., Cleary, M., Felton, A. M., … Lindbladh, M. (2020). The tree species matters: Biodiversity and ecosystem service implications of replacing Scots pine production stands with Norway spruce. *Ambio*, 49(5), 1035–1049. https://doi.org/10.1007/s13280-019-01259-x
- Gill, R. M. A. (1992). A review of damage by mammals in north temperate forests: 3. Impact on trees and forests. *Forestry*, *65*(4), 363–388. https://doi.org/10.1093/forestry/65.4.363-a
- Gross, J. E., Hobbs, N. T., & Wunder, B. A. (2017). Independent Variables for Predicting Intake Rate of Mammalian Herbivores : Biomass Density , Plant Density , or Bite Size ? *Oikos*, *68*(1), 75–81.
- Härkönen, S., & Heikkilä, R. (1999). Use of pellet group counts in determining density and habitat use of moose Alces alces in Finland. *Wildlife Biology*, *5*(4), 233–239. https://doi.org/10.2981/wlb.1999.028
- Hedwall, P. O., & Brunet, J. (2016). Trait variations of ground flora species disentangle the effects of global change and altered land-use in Swedish forests during 20 years. *Global Change Biology*, 22(12), 4038–4047. https://doi.org/10.1111/gcb.13329
- Hedwall, P. O., Brunet, J., Nordin, A., & Bergh, J. (2013). Changes in the abundance of keystone forest floor species in response to changes of forest structure. *Journal of Vegetation Science*, 24(2), 296–306. https://doi.org/10.1111/j.1654-1103.2012.01457.x
- Hedwall, P. O., Holmström, E., Lindbladh, M., & Felton, A. (2019). Concealed by darkness: How stand density can override the biodiversity benefits of mixed forests. *Ecosphere*, *10*(8), e02835. https://doi.org/10.1002/ecs2.2835
- Hegland, S. J., Rydgren, K., & Seldal, T. (2005). The response of Vaccinium myrtillus to variations in grazing intensity in a Scandinavian pine forest on the island of Svanøy. *Canadian Journal of Botany*, 83(12), 1638–1644. https://doi.org/10.1139/b05-132
- Herfindal, I., Tremblay, J. P., Hester, A. J., Lande, U. S., & Wam, H. K. (2015). Associational relationships at multiple spatial scales affect forest damage by moose. *Forest Ecology and Management*, 348, 97–107. https://doi.org/10.1016/j.foreco.2015.03.045
- Hothorn, T., Bretz, F., & Westfall, P. (2008). Simultaneous inference in general parametric models. *Biometrical Journal*, *50*(3), 346–363. https://doi.org/10.1002/bimj.200810425
- Jónsdóttir Vivås, H., Sæther, B.-E., & Andersen, R. (1991). Optimal Twig-Size Selection of a Generalist Herbivore , the Moose Alces alces : Implications for Plant-Herbivore Interactions. *Journal of Animal Ecology*, *60*(2), 395–408.

- Linnell, J. D. C., Cretois, B., Nilsen, E. B., Rolandsen, C. M., Solberg, E. J., Veiberg, V., ... Kaltenborn, B. (2020). The challenges and opportunities of coexisting with wild ungulates in the human-dominated landscapes of Europe's Anthropocene. *Biological Conservation*, 244(March), 108500. https://doi.org/10.1016/j.biocon.2020.108500
- Maubon, M., Ponge, J.-F., & André, J. (1995). Dynamics of Vaccinium myrtillus patches in mountain spruce forest . *Journal of Vegetation Science*, *6*(3), 343–348. https://doi.org/10.2307/3236233
- Melis, C., Buset, A., Aarrestad, P. A., Hanssen, O., Meisingset, E. L., Andersen, R., ... Røskaft, E. (2006). Impact of red deer Cervus elaphus grazing on bilberry Vaccinium myrtillus and composition of ground beetle (Coleoptera, Carabidae) assemblage. *Biodiversity and Conservation*, 15(6), 2049–2059. https://doi.org/10.1007/s10531-005-2005-8
- Miina, J., Hotanen, J. P., & Salo, K. (2009). Modelling the abundance and temporal variation in the production of bilberry (Vaccinium myrtillus L.) in Finnish mineral soil forests. *Silva Fennica*, 43(4), 577–593. https://doi.org/10.14214/sf.181
- Milligan, H. T., & Koricheva, J. (2013). Effects of tree species richness and composition on moose winter browsing damage and foraging selectivity: An experimental study. *Journal of Animal Ecology*, 82(4), 739–748. https://doi.org/10.1111/1365-2656.12049
- Min, Y., & Agresti, A. (2002). Modeling Nonnegative Data with Clumping at Zero : A Survey Models for Semicontinuous Data. *Journal of the Iranian Statistical Society*, *1*, 7–33.
- Nichols, R. V., Cromsigt, J. P. G. M., & Spong, G. (2015). DNA left on browsed twigs uncovers bitescale resource use patterns in European ungulates Published by : Springer in cooperation with International Association for Ecology Stable URL : https://www.jstor.org/stable/436. *Oecologia*, *178*(1), 275–284.
- Nordengren, C., & Ball, J. P. (2005). A field assessment of the Spalinger-Hobbs mechanistic foraging model: Free-ranging moose in winter. *Canadian Journal of Zoology*, *83*(4), 518–526. https://doi.org/10.1139/Z05-029
- Olsson, M., Cox, J. J., Larkin, J. L., Widén, P., & Olovsson, A. (2011). Space and habitat use of moose in southwestern Sweden. *European Journal of Wildlife Research*, *57*(2), 241–249. https://doi.org/10.1007/s10344-010-0418-5
- Parlane, S., Summers, R. W., Cowie, N. R., & Van Gardingen, P. R. (2006). Management proposals for bilberry in Scots pine woodland. *Forest Ecology and Management*, *222*(1–3), 272–278. https://doi.org/10.1016/j.foreco.2005.10.032
- Petersson, L., Holmström, E., Lindbladh, M., & Felton, A. (2019). Tree species impact on understory vegetation: Vascular plant communities of Scots pine and Norway spruce managed stands in northern Europe. *Forest Ecology and Management*, 448(March), 330–345. https://doi.org/10.1016/j.foreco.2019.06.011
- Pfeffer, S. E. (2021). Impacts of multi-species deer communities on boreal forests across ecological and management scales.
- Pfeffer, S. E., Spitzer, R., Allen, A. M., & Hofmeester, T. R. (2017). Pictures or pellets ? Comparing camera trapping and dung counts as methods for estimating population densities of ungulates. *Remote Sensing in Ecology and Conservation*, 4(2), 173–183. https://doi.org/10.1002/rse2.67

- R Core Team (2021). R: A language and environment for statistical computing. R Foundation for Statistical Computing, Vienna, Austria. URL https://www.R-project.org/.
- Royle, J. A., & Nichols, J. D. (2003). Estimating Abundance From Repeated Presence Absence. *Ecology*, *84*(3), 777–790.
- Schrempp, T. V., Rachlow, J. L., Johnson, T. R., Shipley, L. A., Long, R. A., Aycrigg, J. L., & Hurley, M. A. (2019). Linking forest management to moose population trends: The role of the nutritional landscape. *PLoS ONE*, *14*(7), 1–22. https://doi.org/10.1371/journal.pone.0219128
- Shipley, L. A. (2017). The Influence of Bite Size on Foraging at Larger Spatial and Temporal Scales by Mammalian Herbivores. *Oikos*, *116*(12), 1964–1974.
- Shipley, L. A., & Spalinger, D. E. (1995). Influence of Size and Density of Browse Patches on Intake Rates and Foraging Decisions Published by: Springer in cooperation with International Association for Ecology Stable URL : https://www.jstor.org/stable/4221085 Influence of size and density of bro. *Oecologia*, 104(1), 112–121.
- SMHI, 2021. Temperature and precipitation in Sweden 1991–2020. SMHI Swedish Meteorological and Hydrological Institute, Norrköping. (n.d.). Retrieved March 4, 2021, from https://www.smhi.se/kunskapsbanken/klimat
- Speed, J. D. M., Austrheim, G., Hester, A. J., Meisingset, E. L., Mysterud, A., Tremblay, J. P., ... Solberg, E. J. (2014). General and specific responses of understory vegetation to cervid herbivory across a range of boreal forests. *Oikos*, *123*(10), 1270–1280. https://doi.org/10.1111/oik.01373
- Spitzer, R. (2019). *Trophic resource use and partitioning in multispecies ungulate communities*. Retrieved from https://pub.epsilon.slu.se/16431/1/spitzer_r_191114.pdf
- Spitzer, R., Churski, M., Felton, A., Heurich, M., Kuijper, D. P. J., Landman, M., ... Cromsigt, J. P. G.
 M. (2019). Doubting dung : eDNA reveals high rates of misidentification in diverse European ungulate communities. *European Journal of Wildlife Research*, 65(2), 1–14.
- Spitzer, R., Coissac, E., Felton, A., Fohringer, C., Juvany, L., Landman, M., ... P.G.M. Cromsigt, J. (2021). Small shrubs with large importance? Smaller deer may increase the moose-forestry conflict through feeding competition over Vaccinium shrubs in the field layer. *Forest Ecology and Management*, 480(November 2020), 118768. https://doi.org/10.1016/j.foreco.2020.118768
- Spitzer, R., Felton, A., Landman, M., Singh, N. J., Widemo, F., & Cromsigt, J. P. G. M. (2020). Fifty years of European ungulate dietary studies: a synthesis. *Oikos*, *129*(11), 1668–1680. https://doi.org/10.1111/oik.07435
- Tolvanen, A. (1995). Aboveground growth habits of two Vaccinium species in relation to habitat. *Canadian Journal of Botany*, *73*(3), 465–473. https://doi.org/10.1139/b95-047
- Tolvanen, A., Laine, K., Pakonen, T., Saari, E., & Havas, P. (1994). Responses to harvesting intensity in a clonal dwarf shrub, the bilberry (Vaccinium myrtillus L.). *Vegetatio*, *110*(2), 163–169. https://doi.org/10.1007/BF00033396

- Torres, R. T., Carvalho, J. C., Panzacchi, M., Linnell, J. D. C., & Fonseca, C. (2011). Comparative use of forest habitats by roe deer and moose in a human-modified landscape in southeastern Norway during winter. *Ecological Research*, *26*(4), 781–789. https://doi.org/10.1007/s11284-011-0837-0
- Tremblay, J. P., Huot, J., & Potvin, F. (2006). Divergent nonlinear responses of the boreal forest field layer along an experimental gradient of deer densities. *Oecologia*, *150*(1), 78–88. https://doi.org/10.1007/s00442-006-0504-2
- van Beest, F. M., Mysterud, A., Loe, L. E., & Milner, J. M. (2010). Forage quantity, quality and depletion as scale dependent mechanisms driving habitat selection of a large browsing herbivore. *Journal of Animal Ecology*, 79(4), 910–922. https://doi.org/10.1111/j.1365-2656.2010.01701.x
- Weisberg, P. J., & Bugmann, H. (2003). Forest dynamics and ungulate herbivory: from leaf to landscape. *Forest Ecology and Management*, *181*(1–2), 1–12.

Woziwoda, B., Dyderski, M. K., & Jagodziński, A. M. (2019). Effects of land use change and Quercus rubra introduction on Vaccinium myrtillus performance in Pinus sylvestris forests. *Forest Ecology and Management*, 440(December 2018), 1–11. https://doi.org/10.1016/j.foreco.2019.03.010

6. Appendix

Table A1: Result of the Tukey post-hoc test done on the linear mixed effect model with bilberry height as the dependent variable and habitat as the grouping, explanatory variable. May-June measurements, pellet data collected by me. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Ccu - Ccp == 0	-1.1572	1.3448	-0.860	0.97426
Cfm - Ccp == 0	2.1320	0.7226	2.950	0.04224 *
Cfp - Ccp == 0	3.5737	0.7408	4.824	< 0.001 ***
Cfs - Ccp == 0	-0.5773	0.7154	-0.807	0.98146
Df - Ccp == 0	2.9077	1.2027	2.418	0.16794
Mf - Ccp == 0	1.7310	0.7180	2.411	0.17024
Cfm - Ccu == 0	3.2892	1.2253	2.684	0.08751.
Cfp - Ccu == 0	4.7309	1.2482	3.790	0.00235 **
Cfs - Ccu == 0	0.5799	1.2230	0.474	0.99898
Df - Ccu == 0	4.0649	1.5594	2.607	0.10695
Mf - Ccu == 0	2.8882	1.2333	2.342	0.19823
Cfp - Cfm == 0	1.4416	0.4994	2.887	0.05046.
Cfs - Cfm == 0	-2.7094	0.4914	-5.514	< 0.001 ***
Df - Cfm == 0	0.7756	1.0737	0.722	0.98960
Mf - Cfm == 0	-0.4011	0.4678	-0.857	0.97477
Cfs - Cfp == 0	-4.1510	0.5369	-7.732	< 0.001 ***
Df - Cfp == 0	-0.6660	1.0825	-0.615	0.99563
Mf - Cfp == 0	-1.8427	0.5015	-3.674	0.00378 **
Df - Cfs == 0	3.4850	1.0691	3.260	0.01566 *
Mf - Cfs == 0	2.3083	0.4810	4.799	< 0.001 ***

$Mf - Df == 0 \qquad -1.1/6/ \qquad 1.0556 \qquad -1.115 \qquad 0.91214$	Mf - Df == 0	-1.1767	1.0556	-1.115	0.91214
--	--------------	---------	--------	--------	---------

Table A2: Result of the Tukey post-hoc test done on the linear mixed effect model with bilberry height as the dependent variable and habitat as the grouping, explanatory variable. July-August measurements, pellet data collected by me. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Ccu - Ccp == 0	0.8909	1.1618	0.767	0.9860
Cfm - Ccp == 0	1.4052	0.8097	1.735	0.5606
Cfp - Ccp == 0	3.8385	0.8493	4.519	< 0.001 ***
Cfs - Ccp == 0	-0.3755	0.8280	-0.454	0.9992
Df - Ccp == 0	1.9211	1.2380	1.552	0.6858
Mf - Ccp == 0	2.6083	0.7765	3.359	0.0118 *
Cfm - Ccu == 0	0.5143	0.9841	0.523	0.9983
Cfp - Ccu == 0	2.9476	1.0131	2.909	0.0484 *
Cfs - Ccu == 0	-1.2664	1.0094	-1.255	0.8563
Df - Ccu == 0	1.0302	1.3727	0.750	0.9875
Mf - Ccu == 0	1.7175	0.9525	1.803	0.5141
Cfp - Cfm == 0	2.4333	0.5510	4.416	< 0.001 ***
Cfs - Cfm == 0	-1.7807	0.5426	-3.282	0.0155 *
Df - Cfm == 0	0.5159	1.0727	0.481	0.9989
Mf - Cfm == 0	1.2032	0.4376	2.749	0.0756.
Cfs - Cfp == 0	-4.2140	0.6119	-6.887	< 0.001 ***
Df - Cfp == 0	-1.9174	1.0960	-1.749	0.5514
Mf - Cfp == 0	-1.2301	0.5178	-2.376	0.1874
Df - Cfs == 0	2.2966	1.0923	2.103	0.3213

Mf - Cfs == 0	2.9839	0.5007	5.960	< 0.001 ***
Mf - Df == 0	0.6872	1.0472	0.656	0.9939

Table A3: Result of the Tukey post-hoc test done on the linear mixed effect model with shoot length as the dependent variable and habitat as the grouping, explanatory variable. May-June measurements, pellet data collected by me. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Ccu - Ccp == 0	-0.3529	0.5977	-0.590	0.9965
Cfm - Ccp == 0	2.3390	0.3200	7.309	< 0.001 ***
Cfp - Ccp == 0	2.4517	0.3279	7.476	< 0.001 ***
Cfs - Ccp == 0	1.4558	0.3171	4.591	< 0.001 ***
Df - Ccp == 0	2.6282	0.5326	4.935	< 0.001 ***
Mf - Ccp == 0	2.5720	0.3180	8.089	< 0.001 ***
Cfm - Ccu == 0	2.6919	0.5454	4.936	< 0.001 ***
Cfp - Ccu == 0	2.8046	0.5550	5.053	< 0.001 ***
Cfs - Ccu == 0	1.8087	0.5448	3.320	0.0131 *
Df - Ccu == 0	2.9811	0.6929	4.302	< 0.001 ***
Mf - Ccu == 0	2.9249	0.5488	5.330	< 0.001 ***
Cfp - Cfm == 0	0.1127	0.2225	0.507	0.9985
Cfs - Cfm == 0	-0.8832	0.2186	-4.040	< 0.001 ***
Df - Cfm == 0	0.2892	0.4761	0.608	0.9959
Mf - Cfm == 0	0.2330	0.2088	1.116	0.9118
Cfs - Cfp == 0	-0.9959	0.2379	-4.187	< 0.001 ***
Df - Cfp == 0	0.1765	0.4800	0.368	0.9998
Mf - Cfp == 0	0.1203	0.2235	0.538	0.9979

Df - Cfs == 0	1.1725	0.4743	2.472	0.1480
Mf - Cfs == 0	1.1163	0.2142	5.212	< 0.001 ***
Mf - Df == 0	-0.0562	0.4688	-0.120	1.0000

Table A4: Result of the Tukey post-hoc test done on the linear mixed effect model with shoot length as the dependent variable and habitat as the grouping, explanatory variable. July-August measurements, pellet data collected by me. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Ccu - Ccp == 0	-0.85806	0.61163	-1.403	0.77870
Cfm - Ccp == 0	-0.34264	0.42175	-0.812	0.98111
Cfp - Ccp == 0	0.27314	0.44241	0.617	0.99562
Cfs - Ccp == 0	-1.12097	0.43216	-2.594	0.11265
Df - Ccp == 0	0.28257	0.64935	0.435	0.99939
Mf - Ccp == 0	-0.06633	0.40500	-0.164	1.00000
Cfm - Ccu == 0	0.51542	0.51940	0.992	0.94918
Cfp - Ccu == 0	1.13119	0.53486	2.115	0.31470
Cfs - Ccu == 0	-0.26292	0.53310	-0.493	0.99875
Df - Ccu == 0	1.14062	0.72283	1.578	0.66901
Mf - Ccu == 0	0.79173	0.50399	1.571	0.67357
Cfp - Cfm == 0	0.61577	0.29103	2.116	0.31414
Cfs - Cfm == 0	-0.77834	0.28624	-2.719	0.08163.
Df - Cfm == 0	0.62520	0.56452	1.108	0.91572
Mf - Cfm == 0	0.27631	0.23189	1.192	0.88438
Cfs - Cfp == 0	-1.39411	0.32132	-4.339	< 0.001 ***
Df - Cfp == 0	0.00943	0.57667	0.016	1.00000

-0.33947	0.27308	-1.243	0.86197
1.40354	0.57525	2.440	0.16223
1.05464	0.26472	3.984	0.00109 **
-0.34890	0.55166	-0.632	0.99501
	-0.33947 1.40354 1.05464 -0.34890	-0.339470.273081.403540.575251.054640.26472-0.348900.55166	-0.339470.27308-1.2431.403540.575252.4401.054640.264723.984-0.348900.55166-0.632

Table A5: Generalised variance inflation factors (GVIF) from the mixed effect linear models with yearly shoot length and bilberry height as the dependent variable and habitat as well as the different cervid indices as the explanatory variables

	May-June data				July-August data			
	Beyond Moose project pellet data		Pellet data collected by me		Beyond Moose project pellet data		Pellet data collected by me	
	Yearly shoot length	Bilberry height	Yearly shoot length	Bilberry height	Yearly shoot length	Bilberry height	Yearly shoot length	Bilberry height
Habitat	1.02729	1.02071	1.03130	1.02613	1.02859	1.01654	1.04495	1.03300
Fallow deer index	1.04206	1.04093	1.02754	1.02557	1.03515	1.02864	1.03077	1.02726
Roe deer index	1.02097	1.01957	1.04234	1.04044	1.02968	1.02168	1.03651	1.03409
Moose index	1.03536	1.03500	1.02724	1.02736	1.00603	1.00738	1.01737	1.01366
Red deer index	1.02206	1.01994	1.08467	1.08249	1.03087	1.02498	1.05573	1.05420

Table A6: Result of the Tukey post-hoc test done on the general linear mixed effect model with shrub abundance as the dependent variable and habitat as the grouping, explanatory variable. July-August measurements. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Ccu - Ccp == 0	0.38734	0.24901	1.556	0.6756
Cfm - Ccp == 0	1.27069	0.16416	7.741	< 0.001 ***
Cfp - Ccp == 0	1.84803	0.16746	11.035	< 0.001 ***
Cfs - Ccp == 0	-0.53737	0.18695	-2.874	0.0513.

Df - Ccp == 0	-0.48628	0.28284	-1.719	0.5630
Mf - Ccp == 0	0.78041	0.16006	4.876	< 0.001 ***
Cfm - Ccu == 0	0.88336	0.21043	4.198	< 0.001 ***
Cfp - Ccu == 0	1.46069	0.21362	6.838	< 0.001 ***
Cfs - Ccu == 0	-0.92471	0.22797	-4.056	< 0.001 ***
Df - Ccu == 0	-0.87362	0.30974	-2.820	0.0594.
Mf - Ccu == 0	0.39307	0.20663	1.902	0.4374
Cfp - Cfm == 0	0.57733	0.08989	6.423	< 0.001 ***
Cfs - Cfm == 0	-1.80806	0.12394	-14.588	< 0.001 ***
Df - Cfm == 0	-1.75697	0.24654	-7.126	< 0.001 ***
Mf - Cfm == 0	-0.49028	0.07935	-6.179	< 0.001 ***
Cfs - Cfp == 0	-2.38539	0.12908	-18.480	< 0.001 ***
Df - Cfp == 0	-2.33430	0.24811	-9.408	< 0.001 ***
Mf - Cfp == 0	-1.06761	0.08732	-12.227	< 0.001 ***
Df - Cfs == 0	0.05109	0.26274	0.194	1.0000
Mf - Cfs == 0	1.31778	0.11974	11.005	< 0.001 ***
Mf - Df == 0	1.26669	0.24331	5.206	< 0.001 ***

Table A7: Result of the Tukey post-hoc test done on the general linear mixed effect model with grass abundance as the dependent variable and habitat as the grouping, explanatory variable. July-August measurements. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Ccu - Ccp == 0	-1.42782	0.16042	-8.900	< 0.001 ***
Cfm - Ccp == 0	-1.07901	0.10732	-10.055	< 0.001 ***
Cfp - Ccp == 0	-0.84254	0.11461	-7.352	< 0.001 ***

Cfs - Ccp == 0	-1.30811	0.10746	-12.173	< 0.001 ***
Df - Ccp == 0	0.61350	0.16350	3.752	0.00303 **
Mf - Ccp == 0	-0.54878	0.09873	-5.558	< 0.001 ***
Cfm - Ccu == 0	0.34880	0.14798	2.357	0.19797
Cfp - Ccu == 0	0.58528	0.15444	3.790	0.00252 **
Cfs - Ccu == 0	0.11971	0.14825	0.807	0.98209
Df - Ccu == 0	2.04132	0.18956	10.769	< 0.001 ***
Mf - Ccu == 0	0.87903	0.14317	6.140	< 0.001 ***
Cfp - Cfm == 0	0.23648	0.08781	2.693	0.08930.
Cfs - Cfm == 0	-0.22910	0.07941	-2.885	0.05314.
Df - Cfm == 0	1.69252	0.14771	11.458	< 0.001 ***
Mf - Cfm == 0	0.53023	0.07012	7.561	< 0.001 ***
Cfs - Cfp == 0	-0.46558	0.09016	-5.164	< 0.001 ***
Df - Cfp == 0	1.45604	0.15174	9.596	< 0.001 ***
Mf - Cfp == 0	0.29375	0.08130	3.613	0.00495 **
Df - Cfs == 0	1.92162	0.14847	12.942	< 0.001 ***
Mf - Cfs == 0	0.75933	0.07076	10.731	< 0.001 ***
Mf - Df == 0	-1.16229	0.14105	-8.240	< 0.001 ***

Table A8: Result of the Tukey post-hoc test done on the general linear mixed effect model with forbs abundance as the dependent variable and habitat as the grouping, explanatory variable. July-August measurements. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Ccu = Clear-cut unplanted, Cfm = Coniferous forest mixed, Cfp = Coniferous forest pine, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Ccu - Ccp == 0	-0.1129	0.2199	-0.513	0.9985
Cfm - Ccp == 0	-2.0136	0.2055	-9.798	< 0.001 ***

Cfp - Ccp == 0	-1.9366	0.2283	-8.483	< 0.001 ***
Cfs - Ccp == 0	-1.5257	0.1830	-8.336	< 0.001 ***
Df - Ccp == 0	0.8055	0.1981	4.067	< 0.001 ***
Mf - Ccp == 0	-0.6497	0.1469	-4.423	< 0.001 ***
Cfm - Ccu == 0	-1.9008	0.2435	-7.806	< 0.001 ***
Cfp - Ccu == 0	-1.8238	0.2651	-6.880	< 0.001 ***
Cfs - Ccu == 0	-1.4129	0.2266	-6.236	< 0.001 ***
Df - Ccu == 0	0.9183	0.2388	3.846	0.0022 **
Mf - Ccu == 0	-0.5369	0.2006	-2.676	0.0986.
Cfp - Cfm == 0	0.0770	0.2436	0.316	0.9999
Cfs - Cfm == 0	0.4879	0.2049	2.381	0.1960
Df - Cfm == 0	2.8191	0.2195	12.843	< 0.001 ***
Mf - Cfm == 0	1.3639	0.1734	7.866	< 0.001 ***
Cfs - Cfp == 0	0.4109	0.2281	1.801	0.5313
Df - Cfp == 0	2.7421	0.2395	11.450	< 0.001 ***
Mf - Cfp == 0	1.2869	0.2008	6.410	< 0.001 ***
Df - Cfs == 0	2.3312	0.1998	11.666	< 0.001 ***
Mf - Cfs == 0	0.8760	0.1481	5.915	< 0.001 ***
Mf - Df == 0	-1.4552	0.1652	-8.809	< 0.001 ***

Table A9: Result of the Tukey post-hoc test done on the general linear mixed effect model with RASE (rowan, aspen, willow and oak) abundance as the dependent variable and habitat as the grouping, explanatory variable. July-August measurements. Habitat abbreviations correspond to: Ccp = Clear-cut planted, Cfs = Coniferous forest spruce, Df = Deciduous forest, Mf = Mixed forest

	Estimate	Std. Error	z value	Pr(> z)
Cfs - Ccp == 0	-1.5191	0.5314	-2.858	0.0211 *
Df - Ccp == 0	-1.9628	0.6820	-2.878	0.0200 *

Mf - Ccp == 0	-2.3343	0.4796	-4.867	< 0.001 ***
Df - Cfs == 0	-0.4437	0.7156	-0.620	0.9236
Mf - Cfs == 0	-0.8153	0.4607	-1.769	0.2813
Mf - Df == 0	-0.3715	0.6897	-0.539	0.9481

Latest issue number in our series Examensarbete/Master's thesis

2021:5	Non-naivety in a long-lived ungulate – learning effects of shooting moose calves? Author: Lukas Graf
2021:6	Aspects of erosion of restored trout spawning beds in two streams in Northern Sweden Author: Michelle Granlund
2021:7	The role of diseases in mass mortality of wood lemmings (Myopus schisticolor) Author: Henrik Johansen
2021:8	Sexually Segregated Habitat Selection in Daubenton's Bat Myotis dauben Author: Bwalya Chibwe
2021:9	Factors determining agricultural damage from foraging ungulates – an experimental study using exclosures in oat- and grass fields Authors: Markus Velin
2021:10	Återetablering av öring (Salmo trutta L.) med romutsättning - hur effektiv är metoden? Author: Valdemar Samuelsson
2021:11	Disease outbreaks and poorer body condition in salmon (Salmo salar L.) in rivers of northern Sweden – possible spatial shifts in spawning site distribution Author: Elin Bäckström
2021:12	Bats as hosts of zoonotic pathogens – potential conflicts between nature conservation and public health Author: Therese Thalin
2021:13	Diversity patterns and composition of wild bee communities (Hymenoptera: Anthophila) in Swedish boreal forests under different management regimes. Author: Jaime Ramón Luna Santa-María
2021:14	De novo SNP Discovery in the Spotted Hyena (Crocuta crocuta) Author: Amber Mertens De Vry
2021:15	Personality, Movement, andInfection in a Wild Population of Bank Voles (Myodes glareolus) Author: Filippa Erixon
2021:16	Behavioural Responses of Ungulates to Sound Systems – Can simulated risk influence behaviour? Author: Carolin Veronika Berndt

The entire list of published numbers can be found at www.slu.se/viltfiskmiljo